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1. RESRMH : ERECET (BEH¥ITTF500~600Ix) - =R - REMRDITE

. BeaHER
RaER 6931 1593%& 30%&
RRTO0.45 0.32 0.33 0.34 0.38
RRT0.92 0.00 0.28 0.33 0.55
RREEC— ZOfhEA 0.03 0.11 0.13 0.25
MBSt 0.37 0.87 0.97 1.45
HE EE =) =) ES
RRTO0.45 0.30 0.37 0.40 0.42
RRT0.92 0.00 0.13 0.24 0.44
=% 2OftEA 0.03 0.08 0.16 0.31
FRMEL: 0.35 0.70 1.01 1.47
HIE BE EE EE TES
RRTO0.45 0.30 0.35 0.35 0.39
RRT0.92 0.17 0.18 0.37 0.58
Y- ZOfhEA 0.02 0.06 0.14 0.24
gemEast| o052 0.67 1.03 1.42
HE EE =) =) rES
RRTO0.45 0.30 0.38 0.40 0.47
RRT0.92 0.00 0.23 0.45 0.79
100%IL—921-A | zpfrmx 0.06 0.07 0.17 0.35
V=) ERNESH 0.42 0.80 1.24 2.00
HIE BEE EE TES TES
RRTO0.45 0.33 0.35 0.36 0.39
RRT0.92 0.14 0.11 0.24 0.39
100%IL=923-2 | zpfngmA 0.03 0.04 0.06 0.12
A=) SERMESs 0.53 0.57 0.78 1.05
HE EE = = =
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SRS

RaER 6731%& 1553%& 3093%&
RRTO0.45 0.36 0.38 0.43 0.49
RRTO0.92 0.00 0.24 0.57 0.85
ZR—YERE) ZOMRA 0.02 0.06 0.16 0.29
B SET 0.39 0.80 1.36 1.95
$ITE BEE BEE ES ES
RRTO0.45 0.29 0.32 0.33 0.38
RRTO0.92 0.03 0.03 0.12 0.20
BT 1—X ZOMEA 0.03 0.02 0.08 0.17
EREBESE 0.39 0.46 0.64 0.94
$IE k=) k=) k=) =)
RRTO0.45 0.27 0.30 0.31 0.38
RRTO0.92 0.00 0.09 0.22 0.42
= BLIEIRRR ZOBERR 0.09 0.04 0.11 0.22
AEFESET 0.41 0.53 0.79 1.31
$ITE BE k=) k=) NES
RRTO0.45 0.27 0.26 0.27 0.30
RRTO0.92 0.00 0.11 0.25 0.41
A= s ZOMEA 0.04 0.04 0.05 0.05
ERBESET 0.37 0.50 0.62 0.84
HIE k=) =) =) ES
RRTO0.45 0.30 0.34 0.36 0.39
RRTO0.92 0.00 0.10 0.18 0.36
B ZOMERA 0.05 0.03 0.06 0.15
AEFESET 0.42 0.57 0.72 1.09
$ITE =) BEE k=) k=)
RRTO0.45 0.44 0.41 0.45 0.42
RRTO0.92 0.12 0.16 0.27 0.39
DAZ ZOMERA 0.03 0.04 0.11 0.20
ERBESET 0.66 0.70 1.03 1.24
$IE k=) k=) k=) =)
RRTO0.45 0.48 0.52 0.52 0.52
RRTO0.92 0.00 0.00 0.00 0.00
CALATL— ZOfEA 0.00 0.00 0.00 0.06
B SET 0.48 0.52 0.52 0.63
$ITE =) BEE k=) k=)
RRT0.45 0.30 0.32 0.35 0.38
RRT0.92 0.00 0.11 0.14 0.27
WL ZOMERA 0.64 0.47 0.47 0.43
XERESE 0.98 0.96 1.00 1.17
$IE k=) k=) k=) =)
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2. RESRM X =R RERDITE

[Tyt
i & p p p 7
(= I=E 3 6731& 15971 30931
RRTO0.45 0.32 0.31 0.30 0.29
RRT0.92 0.00 0.00 0.00 0.00
AR — ZOMERA 0.03 0.03 0.03 0.02
SERMEAT 0.37 0.36 0.34 0.32
HIZE b= b= plEif=) plEif=)
RRTO0.45 0.30 0.32 0.31 0.34
RRT0.92 0.00 0.00 0.00 0.00
== ZOMERA 0.03 0.03 0.03 0.03
SERE AT 0.35 0.37 0.36 0.39
HIZE BE plEir=) plEir=) plEir=)
RRTO0.45 0.30 0.33 0.33 0.35
RRT0.92 0.17 0.06 0.06 0.00
Pl ZOMERA 0.02 0.02 0.04 0.03
R ESET 0.52 0.44 0.43 0.41
HIZE b= b= plEif=) plEif=)
RRTO0.45 0.30 0.34 0.32 0.34
RRT0.92 0.00 0.00 0.00 0.00
100%JL=923-2 | zpfngA 0.06 0.03 0.04 0.03
V>3 SERESst 0.42 0.39 0.37 0.39
% EE EE EE EE
RRTO0.45 0.33 0.35 0.35 0.35
RRT0.92 0.14 0.14 0.11 0.09
100%I =923 | epfrmx 0.03 0.03 0.02 0.03
AL>2) SERMESET 0.53 0.54 0.53 0.49
HIZE b= b= plEif=) plEif=)
RRTO0.45 0.36 0.33 0.35 0.36
RRT0.92 0.00 0.04 0.00 0.02
2R ZOMERA 0.02 0.02 0.01 0.03
HERMBESET 0.39 0.40 0.37 0.41
HIE BE plEir=) plEir=) plEir=)
RRTO0.45 0.29 0.31 0.29 0.32
RRT0.92 0.03 0.04 0.02 0.00
W12 ZOMSA 0.03 0.02 0.03 0.02
SERMEAT 0.39 0.39 0.38 0.38
HIZE b= b= plEif=) plEif=)
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SRS

RaER 6731%& 1553%& 3093%&
RRTO0.45 0.27 0.27 0.30 0.28
RRTO0.92 0.00 0.00 0.00 0.00
= FLIEIRRR ZOABERR 0.09 0.03 0.04 0.03
AEFESET 0.41 0.33 0.37 0.33
$ITE =) BEE k=) k=)
RRTO0.45 0.27 0.25 0.26 0.25
RRTO0.92 0.00 0.00 0.00 0.00
A= s ZOMEA 0.04 0.05 0.04 0.04
EREBESE 0.37 0.35 0.34 0.32
$IE k=) k=) k=) =)
RRTO0.45 0.30 0.32 0.33 0.30
RRTO0.92 0.00 0.00 0.00 0.00
B ZOMERA 0.05 0.03 0.02 0.03
AEFESET 0.42 0.37 0.37 0.34
$ITE BE BEE k=) k=)
RRTO0.45 0.44 0.45 0.44 0.44
RRTO0.92 0.12 0.10 0.07 0.04
DA ZOMRA 0.03 0.02 0.03 0.03
ERBESET 0.66 0.58 0.57 0.52
$IE k=) k=) k=) =)
RRTO0.45 0.48 0.51 0.51 0.51
RRTO0.92 0.00 0.00 0.00 0.00
CALATL— ZOMERA 0.00 0.00 0.00 0.00
ERMESE 0.48 0.51 0.51 0.51
$ITE =) BEE k=) k=)
RRTO0.45 0.30 0.27 0.28 0.31
RRTO0.92 0.00 0.00 0.00 0.00
B3 ZOMEA 0.64 0.44 0.48 0.38
ERBESET 0.98 0.75 0.80 0.73
$IE k=) k=) k=) =)
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